

Pavol Marušiak; Vladimir Nikolajevič Shevelo

On the relation between boundedness and oscillation of solutions of many-dimensional differential systems with deviating arguments

Czechoslovak Mathematical Journal, Vol. 37 (1987), No. 4, 559–566

Persistent URL: <http://dml.cz/dmlcz/102184>

Terms of use:

© Institute of Mathematics AS CR, 1987

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON THE RELATION BETWEEN BOUNDEDNESS AND OSCILLATION
OF SOLUTIONS OF MANY-DIMENSIONAL DIFFERENTIAL
SYSTEMS WITH DEVIATING ARGUMENTS

PAVOL MARUŠIAK, Žilina and VLADIMIR NIKOLAJEVIČ SHEVELO, Kiev

(Received November 6, 1985)

1. Boundedness and oscillation are, generally speaking, independent properties. Nevertheless, there exists a precise relation between them. Within the last ten years many papers have appeared that deal with the establishment of conditions of the relation between boundedness and oscillation of solutions of ordinary differential equations (see [2]) as well as differential equations with deviating arguments (see the references in [7]).

In this paper we give theorems on the relation between boundedness and oscillation of components of the solutions for many-dimensional systems with deviating arguments.

We note that until now few papers have been published dealing with the theory of oscillation and asymptotic behaviour of the solutions of many-dimensional systems with deviating arguments (see [1], [3], [4], [6], [9]).

2. We will consider a system of the form

$$(S_\lambda) \quad \begin{aligned} y'_i(t) &= a_i(t) f_i(y_{i+1}(g_{i+1}(t))), \quad i = 1, 2, \dots, n-1, \\ y'_n(t) &= (-1)^\lambda a_n(t) f_n(y_1(g_1(t))), \quad t \geq 0, \quad \lambda \in \{1, 2\}; \end{aligned}$$

where $n \geq 2$ and the following conditions hold:

$$(1) \quad a_i \in C([0, \infty), [0, \infty)), \quad i = 1, 2, \dots, n,$$

is not identically zero on any subinterval $[T, \infty) \subset [0, \infty)$,

$$(2) \quad \int^\infty a_i(t) dt = \infty, \quad i = 1, 2, \dots, n-1,$$

$$(3) \quad g_i \in C([0, \infty), [0, \infty)), \quad \lim_{t \rightarrow \infty} g_i(t) = \infty, \quad i = 1, 2, \dots, n,$$

$$(4) \quad f_i \in C(R, R), \quad u f_i(u) > 0 \quad \text{for } u \neq 0, \quad i = 1, 2, \dots, n.$$

Denote by W the set of all solutions $y(t) = (y_1(t), \dots, y_n(t))$ of (S_λ) which exist on some ray $[T_y, \infty) \subset [0, \infty)$ and satisfy $\sup \left\{ \sum_{i=1}^n |y_i(t)| : t \geq T \right\} > 0$ for any $T \geq T_y$.

Definition 1. A solution $y = (y_1, \dots, y_n) \in W$ is called *oscillatory* if each of its components has arbitrarily large zeros.

Definition 2. A solution $y \in W$ is called *nonoscillatory* (weakly nonoscillatory) on $[T, \infty)$, $T \geq 0$, if each of its components (at least one component) is eventually of a constant sign on $[T_1, \infty) \subset [T, \infty)$.

We will use the following notation:

- (5) $\gamma_i(t) = \sup \{x \geq 0; g_i(x) \leq t\}$ for $t \geq 0$, $i = 1, 2, \dots, n$;
 $\gamma(t) = \max \{\gamma_1(t), \dots, \gamma_n(t)\}$;
- (6) $h_1(t) = g_1(t)$, $h_k(t) = g_k(h_{k-1}(t))$, $t \in [0, \infty)$, $k = 2, \dots, n$;
- (7) $J_k(h_k(t), g_k(s); a_1, \dots, a_k) = \int_{g_1(s)}^{h_1(t)} (a_1(x) \int_{g_2(x)}^{h_2(t)} (a_2(x_2) \dots \int_{g_k(x_{k-1})}^{h_k(t)} a_k(x_k) dx_k \dots) dx_2) dx_1$,
 $k = 1, 2, \dots, n$;
- (8) $A_k(h_k(t), g_k(s); a_1 f_1, a_2 f_2, \dots, a_{k-1} f_{k-1}, a_k) =$
 $= \int_{g_1(s)}^{h_1(t)} a_1(x_1) f_1 (\int_{g_2(x_1)}^{h_2(t)} a_2(x_2) \dots f_{k-1} (\int_{g_k(x_{k-1})}^{h_k(t)} a_k(x_k) dx_k) \dots dx_2) dx_1$,
 $k = 1, 2, \dots, n$.

Lemma 1. Let the conditions (1)–(4) hold and let $y = (y_1, \dots, y_n) \in W$ be a nonoscillatory solution of (S_λ) on the interval $[0, \infty)$. Then there exist a $t_0 \geq 0$ and an integer $l \in \{1, 2, \dots, n\}$ with $n + \lambda + l$ odd or $l = n$ such that for $t \geq t_0$,

- (9_l) $y_i(t) y_1(t) > 0$, $i = 1, 2, \dots, l$,
(10_l) $(-1)^{l+i} y_i(t) y_1(t) > 0$, $i = l, l+1, \dots, n$.

Proof. If $\lambda = 1$, then Lemma 1 coincides with Lemma 1 [3]. For $\lambda = 2$, the proof of Lemma 1 is done similarly as that of [3, Lemma 1].

It is easy to prove the following statement.

Lemma 2. Let the conditions of Lemma 1 hold.

a) Then there exists a $\bar{t}_0 \geq 0$ such that for $t \geq \bar{t}_0$,

- (11) $y'_i(t) y_1(t) > 0$, $i = 1, 2, \dots, l-1$ if $l > 1$,
 $(-1)^{l+i+1} y'_i(t) y_1(t) > 0$, $i = l, l+1, \dots, n$ ($n + \lambda + l$ is odd).

b) In addition, let $\lim_{t \rightarrow \infty} |y_i(t)| = L_i$, $0 \leq L_i \leq \infty$. Then

- (12) $l > 1$, $L_l > 0 \Rightarrow \lim_{t \rightarrow \infty} |y_i(t)| = \infty$, $i = 1, 2, \dots, l-1$,

- (13) $l < n$, $L_l < \infty \Rightarrow \lim_{t \rightarrow \infty} |y_i(t)| = 0$, $i = l+1, \dots, n$.

Lemma 3 (Lemma 1 [6]). Let the conditions (1)–(4) hold. Let $y = (y_1, \dots, y_n) \in W$ be such that $y_k(t) \neq 0$ in $[t_0, \infty)$ for some $k \in \{1, 2, \dots, n\}$.

Then there exists a $T \geq t_0$ such that each component y_i of y is in $[T, \infty)$ different from zero, monotone and the limit $\lim_{t \rightarrow \infty} y_i(t) = L_i$ exists (finite or infinite).

Theorem 1. Let the conditions (1)–(4) hold. In addition, suppose that

$$(14) \quad g_i(t) \quad (i = 1, 2, \dots, n) \text{ is nondecreasing and } h_n(t) \leq t \text{ for } t \geq t_0;$$

$$(15) \quad g_1'(t) > 0 \text{ for } t \geq t_0;$$

$$(16) \quad f_{n-1}(u), f_n(u) \text{ are nondecreasing};$$

$$(17) \quad \inf_{0 \leq |u| < \varepsilon} f_i(u)/u > 0 \quad (i = 1, 2, \dots, n-1) \text{ for some } \varepsilon > 0;$$

$$(18) \quad \limsup_{t \rightarrow \infty} \int_{h_n(t)}^t a_n(s) J_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1, \dots, a_{n-1}) ds > 0.$$

Then, for $n + \lambda$ even, every solution $y = (y_1, \dots, y_n) \in W$ of (S_λ) with a bounded component y_1 is either oscillatory, or y_i ($i = 1, 2, \dots, n$) monotonically tend to zero as $t \rightarrow \infty$.

Proof. Suppose the contrary. Let the system (S_λ) for $n + \lambda$ even have a weakly nonoscillatory solution $y = (y_1, \dots, y_n)$ with a bounded component y_1 . Then by Lemma 3, y is nonoscillatory. Without loss of generality we may suppose that $y_1(g_1(t)) > 0$ for $t \geq t_0$. Then the n -th equation of (S_λ) implies that $(-1)^k y_n'(t) \geq 0$ for $t \geq t_0$, and is not identically zero on any subinterval $[t_1, \infty) \subset [t_0, \infty)$. Then by Lemma 1 and Lemma 2 there exist a $t_2 \geq t_0$ and an integer $l \in \{1, 2, \dots, n\}$ with $n + \lambda + l$ odd or $l = n$ such that (9)–(11) hold for $t \geq t_2$. If y_1 is bounded, then in view of (9), (11), Lemma 3, (12) and (2) we get that l must be only one, i.e. $l = 1$. With regard to Lemma 2 we obtain $\lim_{t \rightarrow \infty} y_1(t) = b \geq 0$, $\lim_{t \rightarrow \infty} y_i(t) = 0$, $i = 2, 3, \dots, n$.

Let $b > 0$. Integrating the first equation of (S_λ) from $g_1(s)$ to $g_1(t)$ ($t \geq s \geq t_3 = \gamma(t_2)$), we get

$$(19) \quad y_1(g_1(t)) - y_1(g_1(s)) = \int_{g_1(s)}^{g_1(t)} a_1(x_1) f_1(y_2(g_2(x_1))) dx_1, \quad s \geq t_3.$$

We denote

$$(20_1) \quad M_{i-1} = \inf_{0 \leq |u| \leq y_i(g_i(t_3))} \frac{f_{i-1}(u)}{u}, \quad i = 2, \dots, n, \quad t \geq t_3.$$

In view of (10), (4) and (20₁), from (19) we have

$$(21) \quad y_1(g_1(t)) - y_1(g_1(s)) \leq M_1 \int_{g_1(s)}^{g_1(t)} a_1(x_1) y_2(g_2(x_1)) dx_1, \quad s \geq t_3.$$

Integrating the second equation of (S_λ) from $g_2(x_1)$ to $h_2(t)$, then using (10), (20₂), we get

$$-y_2(g_2(x_1)) \geq M_2 \int_{g_2(x_1)}^{h_2(t)} a_2(x_2) y_3(g_3(x_2)) dx_2, \quad x_1 \geq t_4 = \gamma(t_3).$$

Taking into account this inequality, we obtain from (19)

$$(22) \quad y_1(g_1(t)) - y_1(g_1(s)) \leq -M_1 M_2 \int_{g_1(s)}^{h_1(t)} (a_1(x_1) \int_{g_2(x_1)}^{h_2(t)} a_2(x_2) y_3(g_3(x_2)) dx_2) dx_1 = -M_1 M_2 J_2(h_2(t), g_2(s); a_1, a_2 y_3(g_3)).$$

Integrating the third equation of (S_λ) from $g_3(x_2)$ to $h_3(t)$, then using (7), (22), we have

$$y_1(g_1(t)) - y_1(g_1(s)) \leq M_1 M_2 M_3 J_3(h_3(t), g_3(s); a_1, a_2, a_3 y_4(g_4)), \quad s \geq t_3.$$

Integrating the fourth equation of (S_λ) (if $n > 4$) and then proceeding analogously $\frac{n-4}{n-4}$ -times, we get

$$(23) \quad y_1(g_1(t)) - y_1(g_1(s)) \leq (-1)^n M J_{n-1}(h_{n-1}(t), g_{n-1}(s); \\ a_1, \dots, a_{n-2}, a_{n-1} f_{n-1} y_n(g_n)), \quad s \geq t_3, \quad M = M_1 M_2 \dots M_{n-2}.$$

If we use the monotonicity of f_{n-1} , y_n and g_n , from (23) we obtain

$$(24) \quad y_1(g_1(t)) - y_1(g_1(s)) \leq (-1)^n M f_{n-1}(y_n(h_n(t))) J_{n-1}(h_{n-1}(t), g_{n-1}(s); \\ a_1, \dots, a_{n-2}, a_{n-1}), \quad s \geq t_3.$$

Consider the function $F(s, t)$ defined by

$$F(s, t) = (-1)^n [y_n(h_n(t)) - y_n(s)] \int_s^t \frac{y_1'(g_1(x)) g_1'(x)}{f_n(y_1(g_1(x)))} dx, \quad t \geq s \geq t_3.$$

Obviously we have $F(t, t) = 0 = F(h_n(t), t)$ for $t \geq t_3$. Calculating the partial derivative of $F(s, t)$ with respect to s , using (S_λ) , (10₁), (11), (15) and the fact that f_n is nondecreasing, we obtain

$$F'_s(s, t) \geq a_n(s) [y_1(g_1(s)) - y_1(g_1(t))] + \\ + (-1)^{n+1} y_n(h_n(t)) \frac{y_1'(g_1(s)) g_1'(s)}{f_n(y_1(g_1(s)))}.$$

Integrating the last inequality from $h_n(t)$ to t , using (24), Lemma 2, we have

$$(25) \quad \frac{f_{n-1}(y_n(h_n(t)))}{y_n(h_n(t))} M \int_{h_n(t)}^t a_n(s) J_{n-1}(h_{n-1}(t), g_{n-1}(s); \\ a_1, \dots, a_{n-1}) ds + \int_{y_1(g_1(h_n(t)))}^{y_1(g_1(t))} \frac{du}{f_n(u)} \leq 0.$$

Because $\lim_{t \rightarrow \infty} y_1(t) = b > 0$, we get

$$(26) \quad \lim_{t \rightarrow \infty} \int_{y_1(g_1(h_n(t)))}^{y_1(g_1(t))} \frac{du}{f_n(u)} = 0.$$

From (25), (26) and (17) we conclude that

$$(27) \quad \limsup_{t \rightarrow \infty} \int_{h_n(t)}^t a_n(s) J_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1, \dots, a_{n-1}) ds \leq 0,$$

which contradicts (18). Therefore $b = 0$ and by (13) $\lim_{t \rightarrow \infty} y_i(t) = 0$ for $i = 1, 2, \dots, n$. Theorem 1 is proved.

Theorem 2. *Let the conditions of Theorem 1 hold. In addition, suppose that*

$$(28) \quad \lim_{x \rightarrow 0^+} \int_x^1 \frac{du}{f_n(u)} = d_1 < \infty, \quad \lim_{x \rightarrow 0^-} \int_x^{-1} \frac{du}{f_n(u)} = d_2 < \infty.$$

Then for $n + \lambda$ even all solutions $y \in W$ of (S_λ) with a bounded component y_1 are oscillatory.

Proof. Suppose the contrary. Let the system (S_λ) for $n + \lambda$ even have a weakly nonoscillatory solution $y \in W$ with a bounded component y_1 . Then by Lemma 3, y is nonoscillatory. Without loss of generality we suppose that $y_1(g_1(t)) > 0$ for $t \geq t_0$. Since the conditions of Theorem 1 hold, in view of this theorem we have $\lim_{t \rightarrow \infty} y_1(t) = 0$. From (28) we get (26). Then from (25), (26) we obtain (27), which contradicts (18). Theorem 2 is proved.

The system (S_λ) , where $g_i(t) \equiv t$, $a_i(t) \equiv 1$, $f_i(u) \equiv u$ for $i = 1, 2, \dots, n - 1$, $g_n(t) = g(t)$, $a_n(t) = a(t)$, $f_n(u) = f(u)$, $n + \lambda$ even, is equivalent to the n -th order scalar differential equation

$$(E) \quad y^{(n)}(t) + (-1)^{n+1} a(t) f(y(g(t))) = 0.$$

Theorem 1, 2 are generalizations of [5, Theorem 2] for (E) and also of [9, Theorem 3, 4].

Theorem 3. *Let the conditions (1)–(4), (14)–(16) hold. In addition, let*

$$(29) \quad \inf_{0 \leq |u| < \varepsilon} \frac{f_i(u)}{u} > 0, \quad i = 1, 2, \dots, n \quad \text{for some } \varepsilon > 0,$$

$$(30) \quad \limsup_{t \rightarrow \infty} \int_{h_n(t)}^t a_n(s) J_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1, \dots, a_{n-1}) ds > \\ > \prod_{i=1}^n \left(\limsup_{u \rightarrow 0} \frac{u}{f_i(u)} \right).$$

Then the conclusion of Theorem 2 holds.

Proof. Let the system (S_λ) have a nonoscillatory solution $y \in W$ with a bounded component y_1 . Without loss of generality we suppose that $y_1(g_1(t)) > 0$ for $t \geq t_0$. As in the proof of Theorem 1 we obtain (9)–(11), where $l = 1$. By Lemma 2,

$$(31) \quad \lim_{t \rightarrow \infty} y_1(t) = b \geq 0, \quad \lim_{t \rightarrow \infty} y_i(t) = 0, \quad i = 2, \dots, n.$$

Let $b > 0$. Proceeding in the same way as in the proof of Theorem 1, we get (23). From (23), with regard to (7) and $y_1(g_1(t)) > 0$ for $t \geq t_0$, we have

$$(32) \quad y_1(g_1(s)) \geq (-1)^{n+1} M J_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1, \dots, a_{n-2}, a_{n-1} y_n(g_n)), \\ s \geq t_3.$$

Because (18) follows from (30), in view of Theorem 1 we get $\lim_{t \rightarrow \infty} y_1(t) = 0$.

Integrating the last equation of (S_λ) from $h_n(t)$ to t and using

$$(33) \quad M_n = \inf_{0 \leq |u| \leq |y_1(g_1(t_3))|} \frac{f_n(u)}{u},$$

Lemma 1 ($n + \lambda + 1$ is odd), we have

$$(34) \quad 0 < (-1)^{n+1} y_n(t) \leq (-1)^{n+1} y_n(h_n(t)) - M_n \int_{h_n(t)}^t a_n(s) y_1(g_1(s)) ds.$$

From (32), (34), by virtue of the monotonicity of y_n, g_n , we get

$$0 < (-1)^{n+1} y_n(h_n(t)) \{1 - M \cdot M_n \int_{h_n(t)}^t a_n(s) J_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1, \dots, a_{n-1}) ds\}.$$

Taking into account the inequality $(-1)^{n+1} y_n(h_n(t)) \geq 0$ and (29) for $i = n$, we obtain

$$\begin{aligned} \limsup_{t \rightarrow \infty} \int_{h_n(t)}^t a_n(s) J_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1, \dots, a_{n-1}) ds &\leq \\ &\leq \prod_{i=1}^n \left(\limsup_{u \rightarrow 0} \frac{u}{f_i(u)} \right), \end{aligned}$$

which contradicts (30). Theorem 3 is proved.

Theorem 3 extends Theorem 2.7 [8] and Theorem 5 [9].

Theorem 4. *Let the conditions (1)–(4), (14) hold. In addition, let*

$$(35) \quad f_i \text{ be nondecreasing and } f_i(-u) = -f_i(u) \text{ for } u \in \mathbb{R}, i = 1, 2, \dots, n;$$

$$(36) \quad f_i(uv) \geq K_i f_i(u) f_i(v), uv > 0, 0 < K_i = \text{const. for } i = 1, 2, \dots, n;$$

$$(37) \quad \limsup_{t \rightarrow \infty} \int_{h_n(t)}^t a_n(s) f_n(A_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1 f_1, \dots, a_{n-2} f_{n-2}, a_{n-1})) ds \geq \\ \geq \limsup_{u \rightarrow 0} \frac{u}{K_n f_n(K_1 f_1(\dots K_{n-2} f_{n-2}(f_{n-1}(u)) \dots))}.$$

Then the conclusion of Theorem 2 holds.

Proof. Let the system (S_λ) for $n + \lambda$ even have a nonoscillatory solution $y \in W$ with a bounded component y_1 . Without loss of generality we suppose that $y_1(g_1(t)) > 0$ for $t \geq t_0$. Proceeding in the same way as in the proof of Theorem 1, we get (9)–(11), where $l = 1$. By virtue of Lemma 2 we have (31) and

$$(38) \quad (-1)^{i+1} y_i(t) > 0, \quad (-1)^i y_i'(t) > 0, \quad i = 1, 2, \dots, n, \quad t \geq t_1.$$

Let $\lim_{t \rightarrow \infty} y_1(t) = b > 0$. Integrating the first equation of (S_λ) from $g_1(s)$ to $g_1(t)$, we get (19). In view of $y_1(g_1(t)) > 0$ for $t \geq t_0$, (19) implies

$$(39) \quad y_1(g_1(s)) \geq - \int_{g_1(s)}^{g_1(t)} a_1(x_1) f_1(y_2(g_2(x_1))) dx_1, \quad s \geq t_3.$$

Integrating the second equation of (S_λ) from $g_2(x_1)$ to $h_2(t)$ and using $y_2(g_2(t)) < 0$ for $t \geq t_3$, we obtain

$$-y_2(g_2(x_1)) \geq \int_{g_2(x_1)}^{h_2(t)} a_2(x_2) f_2(y_3(g_3(x_2))) dx_2.$$

From (39), by virtue of the last inequality, (38) and (35) we get

$$(40) \quad y_1(g_1(s)) \geq \int_{g_1(s)}^{g_1(t)} a_1(x_1) f_1 \left(\int_{g_2(x_1)}^{h_2(t)} a_2(x_2) f_2(y_3(g_3(x_2))) dx_2 \right) dx_1, \quad s \geq t_3.$$

Integrating the third equation of (S_λ) and then proceeding analogously $\overline{n-3}$ -times, we get

$$(41) \quad y_1(g_1(s)) \geq (-1)^{n+1} \int_{g_1(s)}^{g_1(t)} a_1(x_1) f_1 \left(\int_{g_2(x_1)}^{h_2(t)} a_2(x_2) \dots \right)$$

$$\dots f_{n-2} \left(\int_{g_{n-1}(x_{n-2})}^{h_{n-1}(t)} a_{n-1}(x_{n-1}) f_{n-1}(y_n(g_n(x_{n-1}))) dx_{n-1} \right) \dots dx_2 dx_1, \\ s \geq t_3, \quad (n + \lambda \text{ is even}).$$

From (41), with regard to the monotonicity of f_{n-1} , y_n , g_n , (6) and (36), we obtain

$$(42) \quad y_1(g_1(s)) \geq (-1)^{n+1} K_1 f_1(\dots K_{n-2} f_{n-2}(f_{n-1}(y_n(h_n(t)))) \dots) \times \\ \times A(h_{n-1}(t), g_{n-1}(x_{n-2}); a_1 f_1, \dots, a_{n-2} f_{n-2}, a_{n-1}).$$

Integrating the last equation of (S_λ) from $h_n(t)$ to t , we have

$$(43) \quad 0 < (-1)^{n+1} y_n(t) = (-1)^{n+1} y_n(h_n(t)) - \int_{h_n(t)}^t a_n(s) f_n(y_1(g_1(s))) ds.$$

If we substitute (42) in (43) and use (36), we get

$$0 \leq (-1)^{n+1} y_n(h_n(t)) \left[1 - \frac{K_n f_n(K_1 f_1(\dots K_{n-2} f_{n-2}(f_{n-1}(y_n(h_n(t)))) \dots))}{y_n(h_n(t))} \times \right. \\ \left. \times \int_{h_n(t)}^t a_n(s) f_n(A_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1 f_1, \dots, a_{n-2} f_{n-2}, a_{n-1})) ds \right].$$

The last inequality, in view of $(-1)^{n+1} y_n(h_n(t)) > 0$ for $t \geq t_3$, implies

$$\limsup_{t \rightarrow \infty} \int_{h_n(t)}^t a_n(s) f_n(A_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1 f_1, \dots, a_{n-2} f_{n-2}, a_{n-1})) ds \leq \\ \leq \limsup_{u \rightarrow 0} \frac{u}{K_n f_n(K_1 f_1(\dots K_{n-2} f_{n-2}(f_{n-1}(u))))}$$

and this contradicts (37). Theorem 4 is proved.

Theorem 4 generalizes Theorem 2.7 [8].

Now we consider the system (S_λ) where $f_i(u) = u^{\alpha_i}$, $i = 1, 2, \dots, n$, i.e.

$$(\bar{S}_\lambda) \quad y'_i(t) = a_i(t) (y_{i+1}(g_{i+1}(t)))^{\alpha_i}, \quad i = 1, 2, \dots, n-1, \\ y'_n(t) = (-1)^\lambda a_n(t) (y_n(g_1(t)))^{\alpha_n},$$

where $0 < \alpha_i$ is the ratio of odd numbers, $i = 1, 2, \dots, n$.

From Theorem 3 we get

Corollary 1. *Let the conditions (1)–(3), (14), (15) hold. In addition, let $0 < \alpha_i \leq 1$; $i = 1, 2, \dots, n$,*

$$\limsup_{t \rightarrow \infty} \int_{h_n(t)}^t a_n(s) J_{n-1}(h_{n-1}(t), g_{n-1}(s); a_1, \dots, a_{n-1}) ds > \\ > \begin{cases} 0 & \text{if } \alpha_1 \alpha_2 \dots \alpha_n < 1, \\ 1 & \text{if } \alpha_1 \alpha_2 \dots \alpha_n = 1. \end{cases}$$

Then for $n + \lambda$ even all solutions $y \in W$ of (\bar{S}_λ) with a bounded component y_1 are oscillatory.

From Theorem 4 we get

Corollary 2. Let the conditions (1)–(3), (14) hold. In addition, let $\alpha_1 \cdot \alpha_2 \dots \alpha_n \leq 1$,

$$\limsup_{t \rightarrow \infty} \int_{h_n(t)}^t a_n(s) \left(\int_{g_1(s)}^{h_1(t)} a_1(x_1) \left(\int_{g_2(x_1)}^{h_2(t)} a_2(x_2) \dots \right. \right. \\ \left. \left. \dots \left(\int_{g_{n-1}(x_{n-2})}^{h_{n-1}(t)} a_{n-1}(x_{n-1}) dx_{n-1} \right)^{\alpha_{n-2}} \dots dx_2 \right)^{\alpha_1} dx_1 \right)^{\alpha_n} ds > \\ > \begin{cases} 0 & \text{if } \alpha_1 \cdot \alpha_2 \dots \alpha_n < 1, \\ 1 & \text{if } \alpha_1 \cdot \alpha_2 \dots \alpha_n = 1. \end{cases}$$

Then the conclusion of Corollary 1 holds.

From Corollary 2, for $\alpha_1 \cdot \alpha_2 \dots \alpha_n = 1$, we get Theorem 6 [9].

Theorems given above are specific in the sense that they do not hold for the corresponding differential systems without deviating arguments.

References

- [1] *Foltynska I., Werbowski J.*: On the oscillatory behaviour of solutions of systems of differential equations with deviating arguments. In: Qual. Theory Diff. Equat. Amsterdam (1981) 1, 243–256.
- [2] *Kondratev V. A.*: On oscillation of solutions of the equation $y^{(n)} + p(x)y = 0$. (in Russian). Trudy Mosk. Mat. O-stva, (1961), 10, 419–436.
- [3] *Marušiak P.*: On the oscillation of nonlinear differential systems with retarded arguments. Math. Slovaca 34, N1 (1984), 73–88.
- [4] *Marušiak P.*: Oscillatory properties of solutions of nonlinear differential systems with deviating arguments. Czech. Math. J. 36, N2 (1986), 223–231.
- [5] *Sficas Ch. K., Staikos V. A.*: The effect of retarded actions on nonlinear oscillations. Proc. Amer. Math. Soc. 46 (1974), 256–264.
- [6] *Šeda V.*: On nonlinear differential systems with deviating arguments. Czech. Math. J. 36, N3 (1986), 450–466.
- [7] *Shevelo V. N.*: On oscillation of solutions of differential equations with deviating arguments. (in Russian), Kiev, 1978.
- [8] *Shevelo V. N., Varech N. V., Gritsai A. K.*: Oscillatory properties of solutions of systems of differential equations with deviating arguments (in Russian). Inst. Math. Ukr. Acad. of Sciences, Kiev (reprint) 85. 10 (1985), 3–46.
- [9] *Varech N. V., Shevelo V. N.*: Asymptotic properties of components of solutions of certain many-dimensional systems with deviating arguments (in Russian). In: Differential-functional equations and their applications. Inst. Math. Ukr. Acad. of Sciences, Kiev (1985), 108–124.

Authors' addresses: P. Marušiak, 010 88 Žilina, Marxa-Engelsa 15, Czechoslovakia (Katedra matematiky VŠDS); V. N. Shevelo, 252601 Kiev, ul. Repina 3, U.S.S.R. (Institute of Mathematics of Ukr. SSR, USSR).